

Description		Qtty	Price		Total
Saturday: Cerer	nony				
	Custom Oversized Metal Frame With Valance For Existing Gazebo	1	\$21,500.00	Т	\$21,500.00
	Off White Chiffon - 24'H - Overlapping *see reference photo&	6	\$500.00	Т	\$3,000.00
	Garden Benches - Giardino Dell' Iris - Love Seat painted arcade white high gloss, off white existing cushions 54"W x 26"L x 34.5"H	55	\$350.00	Т	\$19,250.00
	Garden Dining Chairs - Flower Wire - Multicolor painted white 23" x 23" x 34"h	200	\$40.00	Т	\$8,000.00
	Custom Cushions For Flower Wire Chair fabric to match the Love seat	200	\$30.00	Т	\$6,000.00
		Total Saturday: Ceremony			\$57,750.00
Saturday: Cock	tail Hour				
	Garden Gazebos & Cabanas - Half Round Frame Cabana painted arcade white high gloss 11'8"W x 5'4"D x 8'9"H	6	\$2,500.00	Т	\$15,000.00
*	Chandeliers - Miami - Sputnik Gold Small gold rouching 24"W x 40"H - 14LBS - 150 Watts	6	\$350.00	Т	\$2,100.00
	gold rouching	6 3	\$350.00 \$250.00	т	\$2,100.00 \$750.00

Description		Qtty	Price		Total
	Coffee Tables - Rome - Round - Off White 31 1/2"D x 16"H	6	\$250.00	Т	\$1,500.00
83	Club & Lounge Chairs - Jaipur - Channeled Off White Boucle W/ Gold Base	4	\$300.00	Т	\$1,200.00
	33"W x 34"D x 28"H				
E E	Club & Lounge Chairs - Madrid - Club Chair White 28"W x 30"L x 38"H	8	\$250.00	Т	\$2,000.00
	Ottomans - Standard Pod off white canvas / linen 18"RND x 17"H - Cover Color Upon Request	12	\$50.00	Т	\$600.00
	Accent Pillows canvas / linen - metallic gold, pattern	24	\$35.00	Т	\$840.00
	Area Rugs - Cartagena - Jute Braided 6' Round - Natural 6' Round	4	\$200.00	Т	\$800.00
	ADDITIONAL: Area Rugs - Cartagena - Jute Braided 6' Round - Natural	2	\$250.00	Т	\$500.00
	Small Dining Tables - Antique Brass Round 1 being repaired 40"Diam x 30"H	5	\$300.00	Т	\$1,500.00
	ADDITIONAL: Small Dining Tables - Antique Brass Round	1	\$300.00	Т	\$300.00
-	Stand Up Tables - Bucharest - Multicolor painted antique brass finish to match dining table 22"Diam x 41"H - Custom Color upon request	6	\$250.00	Т	\$1,500.00
Æ	Barstool - Tangier - Channeled - White Velvet 24" x 24" x 38"	8	\$35.00	Т	\$280.00
	Bars - Bora Bora - Wood & Rattan 12' painted arcade white with custom decal front, 12'W x 12'L x 44"H - Custom Frame color & Inserts upon request	1	\$2,100.00	Т	\$2,100.00
	Bars - Bora Bora - Wood & Rattan 8' painted arcade white with custom decal front, 8'w x 12"L x 44"H - Custom Frame color & Inserts upon request	2	\$1,300.00	Т	\$2,600.00
	Barback - Bora Bora - Gold (3 Piece Set) 66"W x 14"L x 85"H (Center- 34"W x 14"D x 85"H / Each Lateral 15 1/2"W x 14"D x 85"H)	1	\$250.00	Т	\$250.00
		Total Sat	urday: Cocktail H	our	\$37,720.00

Description		Qtty	Price		Total
Saturday: Ballro	om				
	Custom Ceiling For Existing Alcoves: Ivory Chiffon with backing 30' x 25', stage alcove not included	3	\$5,500.00	Т	\$16,500.00
	Custom Ceiling For Popout Room: Ivory Chiffon Pleated	1	\$7,500.00	Т	\$7,500.00
	Perimeter Draping: 650' x 14'H custom ivory chiffon with backing, ivory color should match stretch velvet sample from presentation	1	\$18,500.00	Т	\$18,500.00
	Valance In Stock - Ivory	1	\$3,000.00	Т	\$3,000.00
	Truss Covers: Price TBD pending the size	1	\$0.00	Т	\$0.00
	Stage Backdrop: Style TBD	1	\$8,000.00	Т	\$8,000.00
	Dining Table - Las Vegas - Mirror Top Rectangle 10' white dupioni base 10'W x 40"L x 30"H	14	\$600.00	Т	\$8,400.00
	Custom Las Vegas Table: 6' x 40" white dupioni base	2	\$1,800.00	Т	\$3,600.00
	Dining Table - Las Vegas - Mirror Top Round 66" white dupioni base 66"Diam x 30"H	10	\$500.00	Т	\$5,000.00
	Custom Las Vegas Table: 66"R white dupioni base	2	\$1,800.00	Т	\$3,600.00
	Barback - Athens - White & Gold W/ Wood Shelves 6'W x 13"L x 6'H - Base Color Upon Request 8' H W/ BASE	3	\$275.00	Т	\$825.00
		Total Saturday: Ballroom		\$74,925.00	
Saturday: Patio					
T.	Bars - Beverly Hills - Wood 8' painted arcade white high gloss 8'W x 40"Lx 45"H - Color Change Upon Request	2	\$1,050.00	Т	\$2,100.00
	Barback - Tokyo - Straight Basic 8' - Metal painted arcade white high gloss 8'W x 18"L x 8'7"H - Frame Color Upon Request	2	\$330.00	Т	\$660.00
20100000000000000000000000000000000000	Oversize Props - Kids - Carousel Display painted arcade white high gloss, client to use for desserts 10â® ® RNØ8â® ® HCustom Color Upon Request	1	\$1,500.00	Т	\$1,500.00
	Table Tops - Glass Top - Oval 12' Flat 1/2" Oval 12' - 1/2" - Flat	3	\$200.00	Т	\$600.00

Description		Qtty	Price	Total
	Dining Table - Moscow - BASE ONLY painted silver with finished top to use with oval glass top 72" Rnd x 30" H (8) 66" Rnd x 30" H (10) 60" Rnd x 30" H (3)	6	\$250.00 T	\$1,500.0
		٦	otal Saturday: Patio	\$6,360.0
Sunday: Brunch				
	Bars - Beverly Hills - Wood 8' reuse from saturday night	1	\$0.00 T	\$0.00
	Barback - Tokyo - Straight Basic 8' - Metal reused from saturday night	1	\$0.00 T	\$0.0
	Garden Benches - Giardino Dell' Iris - Love Seat reused from ceremony	26	\$0.00 T	\$0.0
	Garden Dining Chairs - Flower Wire - Multicolor reused from ceremony	160	\$0.00 T	\$0.0
		Т	otal Sunday: Brunch	\$0.0
Pullsheet				
			Total Pullsheet	\$0.0
Services				
	Tuesday Install Gazebo	4	\$650.00	\$2,600.0
	Drive + Install Thursday	14	\$650.00	\$9,100.0
	Install Friday	14	\$650.00	\$9,100.0
	Strike Overnight For Rehearsal - Friday	8	\$300.00	\$2,400.0
	Install Saturday	14	\$500.00	\$7,000.0
	Strike Sunday + Drive Back	14	\$650.00	\$9,100.0
	Truck + Gas Surcharge	13	\$580.00	\$7,540.0
	Hotel Rooms For Crew: 7 rooms, 3 nights	1	\$6,300.00	\$6,300.0
	Per Diems For Crew	14	\$260.00	\$3,640.0
	Flameproof Certificate	1	\$1,200.00	\$1,200.0
	Presentation Fee	1	\$1,500.00	\$1,500.0
	Manager Fees: Productions, meetings, revisions, on site management, etc	1	\$2,500.00	\$2,500.0
	Hotel Room For Designer: 2 nights Provided by client on site at Pelican Hill	1	\$0.00	\$0.0
lease make che	cks payable to Revelry, Inc.		Total Products:	\$176,755.0
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Total Labor/Services/Misc:		\$61,980.00
		V	Vear & Tear (4.00%): Packing (2.50%):	\$7,070.20 \$4,418.88
lotes			Tavaa (¢1, 110.0

\$16,791.73

Taxes :

Discounts:	(\$0.00)
Total:	\$267,015.80
Payments:	(\$0.00)
Balance:	\$267,015.80